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QUESTION 1

You want to configure an LDAP authentication provider in your domain. Which three pieces of information must you
obtain from your LDAP administrator? (Choose three.) 

A. name attribute for user objects 

B. connection pool maximum size 

C. base DN for group objects 

D. realm name 

E. host name and port 

Correct Answer: CDE 

 

QUESTION 2

As part of troubleshooting an application, you need to analyze the HTTP session count and the server heap size over
the past six hours. You are using the Administration console. You want to view both metrics together and correlate their
values. 

Which three steps should you take in the Administration console? 

A. Create a custom view. 

B. Start the JVM Runtime view. 

C. Drag each metric onto two charts in the same view. 

D. Access the Monitoring Dashboard. 

E. Click the application\\'s Monitoring tab. 

Correct Answer: CDE 

 

QUESTION 3

In memory replication in your cluster seems to be slow. You decide to create a replication channel for your cluster.
Which two statements are true? (Choose two.) 

A. The channel is used for heartbeats so they do not interfere with replication communication 

B. Each server in the cluster must have this named replication channel configured on it 

C. If no replication channel is configured, then sessions are persisted to the file system or the database 

D. The channel can be used for stateful session bean replication 

E. The channel cannot use a secure protocol 
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Correct Answer: BD 

Reference: https://docs.oracle.com/cd/E50629_01/wls/WLACH/pagehelp/
Corecoreclusterclusterconfigreplicationtitle.html 

 

QUESTION 4

Your administration server goes down. One of the managed server of the domain is also currently shut down. This
managed server has been successfully started in the past. You cannot bring up the administration server right away, but
you need to start the managed server. You run the start script, but the managed server will not start. Explain this. 

A. This managed server has disabled Managed Server Independence mode 

B. Managed servers always contact their admin server for the latest configuration. When the admin server is down, a
managed server cannot be started. 

C. This managed server must be part of a cluster and the cluster master is also down 

D. This managed server must reside on the same machine as the admin server 

E. The domain must use the embedded LDAP for authentication. Without the admin server, the managed server cannot
get updates to its local LDAP store 

Correct Answer: A 

 

QUESTION 5

You are working for a software company that mostly dealt with creating and reusing C++ and.NET objects. There are
many COM (Component Object Model) components that have been created over time that provide standardized
functionalities. Recently, platform independence has become a major consideration for your organization and you have
deployed WebLogic server12c.But you would like to make use of some of your prebuilt COM objects for request
processing. You need an interim solution before implementing web services. 

Which artifact within WebLogic server helps you achieve your objective? 

A. Messaging Bridge 

B. IDL Mapper 

C. jCOM 

D. XML Registry 

E. COM2 Java 

Correct Answer: E 
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